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MAT 132 - Calculus II, Midterm 1 - Exam 1

March 2nd, 2011

(1) SHOW ALL WORK AND EXPLAIN REASONING WHENEVER POSSIBLE TO
GET FULL CREDIT; A CORRECT ANSWER WITH INCORRECT OR NO

JUSTIFICATION will not get credit.

(2) You HAVE 90 MINUTES TO COMPLETE THIS EXAM.

(3) You MAY NOT USE ANY BOOK, NOTES, CALCULATORS. OR ELEC-

TRONIC DEVICES.

(4) CrROSS OUT THE WORK YOU DO NOT WANT TO BE GRADED.

(5) SQUARE OR HIGHLIGHT YOUR FINAL ANSWERS.

Table of Integrals

1 T g, _ T
ndp = n+1 _1. /e dr =¢e* +C
/m x n+1m ,n F# +C

1 /sinxdw:—cosx+C
/Edwz Inz+C

/cosxdx =sinz +C

1
/ ——dx = arctanz + C
1+ 22

sec® zdz = tanz + C

/secxtanxda: =secx + C
/csc2a:dx =—cotz+C

/cscmcot:vdm =cscr+C



(1) Evaluate each of the following indefinite integrals. Each one is worth 8
points.

(a) [In(1+ %) dx.
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(2) For each of the following improper integrals:

(i) determine whether or not it converges.

(i) Evaluate those that converge.

(a) 128 (z— 1)1/3 dx.
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(3) Let R denote the region in the plane which is bounded by the curves
y? =4z and y = 2z — 4.

(a) Express the area of R as a definite integral.

(b) Evaluate the definite integral of part (a).
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(4) Consider the region R bounded by y = 223/2, z = 1 and the z-axis.

(a) Find the volume of the solid obtained by rotating R about the z-axis.

(b) Find the volume of the solid obtained by rotating R about the line

1
=
S
*
+
—a
x




	Midterm1_1
	Midterm1_2
	Midterm1_3
	Midterm1_4
	Midterm1_5
	Midterm1_6

